Installation Instructions
74 H W E

Application i HJ i %Y

Honda Civic CR-V '17-present

Components [} & fid {2

D Adjustable ball joint TJ 537058 2pcs
(2 Washer plate ElE$# 2pcs
@ Bolt 1844 (M12x1.25x32) 6pcs
@ Nut $218 (M12x1.25-19x12) 6pcs
(® Nut ¥218 (M14x1.5-19x14) 2pcs
® Cotter pin BFOH 2pcs

Caution J#=$HI1H

«Installation is recommended to be performed by licensed mechanics with necessary tools

to ensure proper installation and safety, or damage to the product or vehicle may occur.

«Note the routing and position of wires and cables before installation. Please refer to factory manual.
«Tighten bolts and nuts frimly using handtools, or with specified torque if mentioned.
 ZEFEHGHRNEXEMATERNTURRZREEREZSE  GRIUGHERNEMENSEE -

« AR FMRBRERERUE - B2 EREFM -

 FERAFHIERBHRBIERIBLY - SKEBRBPITENES EH -

Instructions %z %4 3t B

1. Remove the factory lower ball joints from lower control arms.
1SR REAN S BRI R T 2B LED D -

FR. LOWER ADJUSTABLE BALLJOINT
AN o] FEA i8R
#Q0291/Q0302

2. Install adjustable ball joints to the control arms. Adjust the ball joints to
desired camber setting, then install supplied M12 bolts, nuts and washer
plates to secure the ball joints.

(See figure 2)

A ORI S BR 2 R A T 1R B W AR R U B A ER R IME A/ B IMERRTE
C SEREERECUM1218 4  1RIE R EIEE RS EREE -

(&EBERD)

s CAMBER —

3. Please have the vehicle professionally aligned after installation.
FRLERPTHABESEIRIGEMRLE -

Illstration of installed state
ZETEHREE




